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SHEEZDREHEIL 30,745 U TRTERRILL 86.1 WIZH->TLVET,
EE/DRKREDO1ELEL 748 % T, BIERBAICLER 75 RAUMELGE->TWET,

(1) REHE (B b)
X % 6 F E 5 T B I AT 5 [F] H
T & N E 1,521 1,112 136.7%
T @R K E 28,767 34,246 84.0%
T @ KM KE = -
T &8 B = - -
E — IL X £ 2 4 48.6%
B F B E 459 356 128.9%
& it 30,748 35,719 86.1%
(2) FEfRLLE (B %)
X4 6 =3 = =3 E
15 2% E5nE | BESN 15 2% E5nE | BESN
T & N E 64.2 33.2 - 2.6 53.5 44.9 - 1.6
@K E 74.8 6.1 - 19.0 82.3 5.1 - 12.5
T8 KH XK ZE - - - - - - - -
T &8 B % - - - - - - - -
E — L K & - - 100.0 - - - 100.0 -
2 GHENREHERUVEMRLE (Bfi: ko)
X % m tE A BREHE 1% 2% FNLE | HEN =X
WELEHMD 552 47.0% 49.7% - 3.3% -
BEESE 242 42%  90.3% - 5.5% -
SEDEL 55 97.5% - - 2.5% -
x m p gZEARILY 1 - = -] 100.0% -
RBHERKIE 240  98.0% - - 2.0% -
RHEMD 418| 100.0% - - - -
WwEEcH 8 -|  100.0% - - -
ZDfih 4 - 100.0% - - -
T7AIN—R/)™ 26,076 74.9% 5.5% - 19.6% -
/) LF 312 20%  94.8% - 3.2% -
@ K Z|XRS5FEES 2,335 84.9% 0.4% - 14.8% -
RIANT7A 13N — 7 - 86.2% - 13.8% -
Z Dt 37 - 85.3% - 14.7% -
L@ KHKZE - - - - - -
T &8 B = - - - - - -
E — L K Z|ZDith 2 - -|  100.0% -
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1T EREHR

STHMEFEZOREGBR(HR)
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SH6EEZDHREHREIL 954 > TRIERRALE 101.8 %IZHE->TNVET,

(1) REHE (B b)
X % 6 F E 5 T B I AT 5 [F] H
T & N E 598 492 121.4%
T @R K E 356 445 80.0%
T @ KM KE - =
T B B =% - -
E — I K Z - -
2 F H = - -
& it 954 937 101.8%
(2) FEfRLLE (B %)
X4 6 3 E =3 E
15 2% 5L | HEN 15 2% Z5nLE | HEN
T & N E 13.4 84.0 - 2.6 - 98.4 - 1.6
AR N 1.7 94.6 - 3.7 - 99.0 - 1.0
T8 KH XK ZE - - - - - - - -
T & B % = - - - - - - -
E — L K & - - - - - - - -
2 GHENREHERUVEMRLE (BGL: b))
X % m tE A BREHE 1% 2% FNLE | HEN =X
WELMD 3471  202%  79.1% - 0.6% -
2ENE ERE 242 4.2%  90.3% - 5.5% -
WEFHH 8 -|  100.0% - - -
ZDfih 0 - 100.0% - - -
2/))LX 312 20%  94.8% - 3.2% -
L@ INRIKE [Th5FELH 9 - 97.3% - 2.7% -
Z Dt 35 - 91.5% - 8.5% -
L@ KHKZE - - - - - -
= B B = - - - - - -
E — I K #E - -

(1) REVERUFRERIZENT.SVUFD

(¥2) RPOSFEDHFIEIHERHADLDTY,

BfRL. STERRA—BLBENEELNHYET .




tkEE®BRBEES

1T EREHR

SHEEZDREHEIL 11,629 U TRTERBILL 88.5 WwIZ->TLVET,
EE/DRKREDO1ELEL 781 % T, BIERBAICLER 84 RAUMELGE->TLET,

(1) REHE (B b)
X % 6 & 3 5 =3 E X RITERHALE
= @ /I % 120 62 192.8%
T EE 11,218 12,909 86.9%
T & KA KXKZE - -
E &8 B = - -
E — L X % 2 4 48.6%
B F B % 289 160 180.1%
& E 11,629 13,136 88.5%
(2) FRELE (B3 : %)
X4 6 F E 5 F 23
15 2% 5L | HEN 15 2% Z5nLE | HEN
r @ /N Z 97.6 - - 24 95.9 - - 4.1
TS 78.1 0.1 - 218 86.5 0.4 - 13.1
T & KK K £ - - - - - - - -
T B & = - - - - - - - -
E — L K % - -] 100.0 _ _ - 1000 _
2 RENRERERVERLE (B4 b))
X & fm T2 A REH= 1% 2% F5LE | BN =Xi)
PO WELEHMD 66] 97.7% - - 2.3% -
s C T 55| 97.5% - - 2.5% -
- - . I7AIN—R)Y 11215 78.1% 0.1% - 21.8% -
R T 3 - - — 100.0% -
T & KA KX - - - - - -
T B & = - - - - - -
E — L X Z|Z0i 2 - -] 100.0% _
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SHEEZDREHEIL 5881 FUTHTERBIL 101.9 BIZH->TWVET,
EE/DRKRED1ELEL 526 % T, BIERBICLEAN 131 RAUMELLGE>TWVET,

(1) REHE (B b)
X % 6 F E 5 T B I AT 5 [F] H
T & N E 145 8 1,759.7%
T @R K E 5,736 5,723 100.2%
LB KA K ZE - -
T &8 B = - -
E — I K Z - -
2 F H = - 42
= it 5,881 5,773 101.9%
(2) FEfRLLE (B %)
X4 6 F E 5 F 23
15 2% 5L | HEN 15 2% Z5nLE | HEN
T & N E 86.4 2.6 - 11.0 82.3 6.8 - 10.9
T & KE 52.6 248 - 22.6 65.7 19.8 - 145
T8 KH XK ZE - - - - - - - -
T &8 B % - - - - - - - -
E — IL X & - - - - - - - -
2 GHENREHERUVEMRLE (Bfi: ko)
X % m tE A BREHE 1% 2% FNLE | HEN =X
EEMD 140  89.5% - - 10.5% -
T @ /N FiOFRaLXx 1 - - -|  100.0% -
Z it 4 -|  100.0% - - -
- s " TPAIN—R)™ 5730 52.7%| 24.7% - 22.6% -
A ERE RIARTF7A 18— 7 - 86.2% - 13.8% -
L@ KHKZE - - - - - -
T & B = = - - - - -
E — I K #E - -
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(¥2) RPOSFEDHFIEIRERHADLDTY,




-

THMEeFEZORERR (8BHF)

( §f164E8A3IARAE )

tkEE®BRBEES

EE/DRKREDO1ELEL 851 % T, FIERBAICLER 24 RAUMELGES>TULET,

“ SHEEEDREMREIL 12,285 FCTRTERHALE 77.4 WIZl->TLVET,

(1) REHE (BAL: b))
X % 6 F E 5 =3 B I AT [F] H
T @ N = 658 550 119.8%
T @B K E 11,456 15,169 75.5%
LB KA XK ZE - - -
T B B =% - - -
E — I K Z - - -
g F B = 170 153 111.0%
= it 12,285 15,872 77.4%
(2) FEfRLLE (B %)
X4 6 3 E =3 E
15 2% 5L | HEN 15 2% Z5nLE | HEN
T & N E 99.3 - - 0.7 96.1 2.7 - 1.1
@K E 85.1 - - 14.9 87.4 0.9 - 11.7
T8 KH XK ZE - - - - - - - -
T & B % - - - - - - - -
E — L K & - - - - - - - -
2 GHENREHERUVEMRLE (BBL: b))
X % m tE A BREHE 1% 2% FNLE | HEN =X
WwoHEMD 418| 100.0% - - - -
E@/NE RHF RIS 240 98.0% - - 2.0% -
ZDith - - - - - -
- s " TPAIN—R)™ 9,131 85.0% - -l  15.0% -
BB X A nsEes 2,326]  85.2% . | 1a8% -
LB AMKE - - - - - -
¥ B B % - - - - - -
E — L X ¥ - -
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